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Restar decimales

Nombre;

Resuelve cada problema.

1) 53.3-24.82=

2) 935+33.21=

3) 85.420-32.28=

4) 3645+ 18.7=

5) 496+ 22.114 =

6) 35.533-23.925=

7) 2595+ 7.4=

8) 85.972-786=

9)

10.350 - 9.60 =

10) 80.3+53.9=

11) 74.02-9.619=

12) 88.25- 15.663 =

Respuestas

10.

11

12.
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Restar decimales

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 53.3-24.82= 28.48

2) 935+3321= 12671

3) 85420-3228= 5314

4) 36.45+18.7= 55.15

5 496+22114= 71714

6) 35533-23925=  11.608

7) 2595+ 7.4= 33.35

8) 85.972-786= 7.372

9) 10.350-9.60 = 0.75

10) 80.3+53.9= 134.2

11) 74.02-9.619=  64.401

12) 88.25-15663=  72.587

Respuestas

1 28.48
2, 126.71
3, 53.14
4 55.15
5. 71.714
6. 11.608
7. 33.35
8. 7.372
9 0.75
10, 134.2
1. 64.401
12, (2.587
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Restar decimales

Nombre;

Resuelve cada problema.

Respuestas

71.714 33.35
53.14 126.71
134.2 28.48

7.372
55.15

11.608
0.75 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

53.3-24.82=

935+3321=

85.420 - 32.28 =

36.45+ 18.7 =

49.6 + 22.114 =

35.533-23.925 =

2595+ 74=

85.972-78.6 =

10.350 - 9.60 =

80.3+53.9=

10.
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